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    Orders of Operations
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1. Vocabulary The Distributive Property combines which operation
with addition or subtraction?

2. Reasoning Does 6(50 + 3) = (50 + 3)6 ? Explain.

3. Error Analysis A classmate
used the Distributive Property  11(9.2) = 11(9) + 11(2)
tofind 11(9.2). What error did 9+22 |
your classmate make? 121

the blanks.
5.20-2-8=u-16

Use the order of operations to fi
+7=

4. 4x5+7=

‘Use mental math to find the missing numbers. Then simpli
6. H(4.8) = 6(5) — 6() 7. 5(32) = 5(%) + 5(%)
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Find the value of each expression.

8 6+1-5 9. —4+2+9 10.5-8+4
1m.3-0-11 121832 13.100-7-9
A+ 4) 15. 48+ (<4-3)+ 2

1 12+

16. Coins You buy some items at a store and pay with a $5 bill. You
receive two quarters, two dimes, and three pennies as change. How
much money do you receive?

Use the Distributive Property and mental math to find each product.

17 5(29) 18. 6(3.9) 19.9:22

20. 5(42) 2.7-26 2. 8(87)

23. 4102 24. 11.6(9) 25, 11(22)




